UGC NET 2021 Kashmiri

Topic:- Kashmiri_SET1_A
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[Question ID = 2179][Question Description = Q01_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8713]
2. 2 [Option ID = 8714]
3. 3 [Option ID = 8715]
4. 4 [Option ID = 8716]

Correct Answer :-
e 1 [Option ID = 8713]

2 sl 5 S il & U
Ao ¥
Jlalseid | @) 239948 1)

£ H:‘sﬁp @) o :‘s,c"u 3)

[Question ID = 2180][Question Description = Q02_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8717]
2. 2 [Option ID = 8718]
3. 3 [Option ID = 8719]
4. 4 [Option ID = 8720]

Correct Answer :-
e 1 [Option ID = 8717]
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[Question ID = 2181][Question Description = Q03_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8721]
2. 2 [Option ID = 8722]
3. 3 [Option ID = 8723]
4. 4 [Option ID = 8724]

Correct Answer :-

e 1 [Option ID = 8721]
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[Question ID = 2182][Question Description = Q04_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8725]



2. 2 [Option ID = 8726]
3. 3 [Option ID = 8727]
4. 4 [Option ID = 8728]

Correct Answer :-
e 1 [Option ID = 8725]
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[Question ID = 2183][Question Description = Q05_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8729]
2. 2 [Option ID = 8730]
3. 3 [Option ID = 8731]
4. 4 [Option ID = 8732]

Correct Answer :-
e 1 [Option ID = 8729]
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[Question ID = 2184][Question Description = Q06_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8733]
2. 2 [Option ID = 8734]
3. 3 [Option ID = 8735]
4. 4 [Option ID = 8736]

Correct Answer :-
e 1 [Option ID = 8733]
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[Question ID = 2185][Question Description = Q07_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8737]
2. 2 [Option ID = 8738]
3. 3 [Option ID = 8739]
4. 4 [Option ID = 8740]

Correct Answer :-
e 1 [Option ID = 8737]
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[Question ID = 2186][Question Description = Q08_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8741]
2. 2 [Option ID = 8742]



3. 3 [Option ID = 8743]
4. 4 [Option ID = 8744]

Correct Answer :-
e 1 [Option ID = 8741]
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[Question ID = 2187][Question Description = Q09_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8745]
2. 2 [Option ID = 8746]
3. 3 [Option ID = 8747]
4. 4 [Option ID = 8748]

Correct Answer :-

& 1 [Option ID = 8745]
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[Question ID = 2188][Question Description = Q10_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8749]
2. 2 [Option ID = 8750]
3. 3 [Option ID = 8751]
4. 4 [Option ID = 8752]

Correct Answer :-

e 1 [Option ID = 8749]
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[Question ID = 2189][Question Description = Q11_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8753]
2. 2 [Option ID = 8754]
3. 3 [Option ID = 8755]
4. 4 [Option ID = 8756]

Correct Answer :-
e 1 [Option ID = 8753]

i il # P 4
» 2 - = " P . 2 | =t
J_‘,—";IJ,-yLJ'_/fL} % ”L}JJL 2 f’;7£',70*‘dul (1)
2059054 3l @ 2ol Soliy

[Question ID = 2190][Question Description = Q12_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8757]
2. 2 [Option ID = 8758]
3. 3 [Option ID = 8759]



4. 4 [Option ID = 8760]

Correct Answer :-
e 1 [Option ID = 8757]
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[Question ID = 2191][Question Description = Q13_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8761]
2. 2 [Option ID = 8762]
3. 3 [Option ID = 8763]
4. 4 [Option ID = 8764]

Correct Answer :-

& 1 [Option ID = 8761]
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[Question ID = 2192][Question Description = Q14_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8765]
2. 2 [Option ID = 8766]
3. 3 [Option ID = 8767]
4. 4 [Option ID = 8768]

Correct Answer :-
e 1 [Option ID = 8765]
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[Question ID = 2193][Question Description = Q15_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8769]
2. 2 [Option ID = 8770]
3. 3 [Option ID = 8771]
4. 4 [Option ID = 8772]

Correct Answer :-
e 1 [Option ID = 8769]
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[Question ID = 2194][Question Description = Q16_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8773]
2. 2 [Option ID = 8774]
3. 3 [Option ID = 8775]



4. 4 [Option ID = 8776]

Correct Answer :-
e 1 [Option ID = 8773]
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[Question ID = 2195][Question Description = Q17_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8777]
2. 2 [Option ID = 8778]
3. 3 [Option ID = 8779]
4. 4 [Option ID = 8780]

Correct Answer :-
e 1 [Option ID = 8777]
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[Question ID = 2196][Question Description = Q18_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8781]
2. 2 [Option ID = 8782]
3. 3 [Option ID = 8783]
4. 4 [Option ID = 8784]

Correct Answer :-
e 1 [Option ID = 8781]
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[Question ID = 2197][Question Description = Q19_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8785]
2. 2 [Option ID = 8786]
3. 3 [Option ID = 8787]
4. 4 [Option ID = 8788]

Correct Answer :-
e 1 [Option ID = 8785]
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[Question ID = 2198][Question Description = Q20_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8789]
2. 2 [Option ID = 8790]
3. 3 [Option ID = 8791]
4. 4 [Option ID = 8792]



Correct Answer :-
e 1 [Option ID = 8789]
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[Question ID = 2199][Question Description = Q21_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8793]
2. 2 [Option ID = 8794]
3. 3 [Option ID = 8795]
4. 4 [Option ID = 8796]

Correct Answer :-
e 1 [Option ID = 8793]
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[Question ID = 2200][Question Description = Q22_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8797]
2. 2 [Option ID = 8798]
3. 3 [Option ID = 8799]
4. 4 [Option ID = 8800]

Correct Answer :-
e 1 [Option ID = 8797]
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[Question ID = 2201][Question Description = Q23_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8801]
2. 2 [Option ID = 8802]
3. 3 [Option ID = 8803]
4. 4 [Option ID = 8804]

Correct Answer :-
e 1 [Option ID = 8801]
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[Question ID = 2202][Question Description = Q24_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8805]
2. 2 [Option ID = 8806]



3. 3 [Option ID = 8807]
4. 4 [Option ID = 8808]

Correct Answer :-

e 1 [Option ID = 8805]
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[Question ID = 2203][Question Description = Q25_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8809]
2. 2 [Option ID = 8810]
3. 3 [Option ID = 8811]
4. 4 [Option ID = 8812]

Correct Answer :-

e 1 [Option ID = 8809]
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[Question ID = 2204][Question Description = Q26_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8813]
2. 2 [Option ID = 8814]
3. 3 [Option ID = 8815]
4. 4 [Option ID = 8816]

Correct Answer :-

e 1 [Option ID = 8813]
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[Question ID = 2205][Question Description = Q27_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8817]
2. 2 [Option ID = 8818]
3. 3 [Option ID = 8819]
4. 4 [Option ID = 8820]

Correct Answer :-
e 1 [Option ID = 8817]



[Question ID = 2206][Question Description = Q28_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8821]
2. 2 [Option ID = 8822]
3. 3 [Option ID = 8823]
4. 4 [Option ID = 8824]

Correct Answer :-
e 1 [Option ID = 8821]

v—«cvér‘fiﬁf-” S L A i

JzsA @ $ds o
g Z
By @ 264 ©

[Question ID = 2207][Question Description = Q29_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8825]
2. 2 [Option ID = 8826]
3. 3 [Option ID = 8827]
4. 4 [Option ID = 8828]

Correct Answer :-
e 1 [Option ID = 8825]
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[Question ID = 2208][Question Description = Q30_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8829]
2. 2 [Option ID = 8830]
3. 3 [Option ID = 8831]
4. 4 [Option ID = 8832]

Correct Answer :-
e 1 [Option ID = 8829]
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[Question ID = 2209][Question Description = Q31_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8833]
2. 2 [Option ID = 8834]
3. 3 [Option ID = 8835]
4. 4 [Option ID = 8836]

Correct Answer :-
e 1 [Option ID = 8833]
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[Question ID = 2210][Question Description = Q32_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8837]
2. 2 [Option ID = 8838]
3. 3 [Option ID = 8839]
4. 4 [Option ID = 8840]

Correct Answer :-

e 1 [Option ID = 8837]
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[Question ID = 2211][Question Description = Q33_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8841]
2. 2 [Option ID = 8842]
3. 3 [Option ID = 8843]
4. 4 [Option ID = 8844]

Correct Answer :-
e 1 [Option ID = 8841]
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[Question ID = 2212][Question Description = Q34_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8845]
2. 2 [Option ID = 8846]
3. 3 [Option ID = 8847]
4. 4 [Option ID = 8848]

Correct Answer :-
e 1 [Option ID = 8845]
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[Question ID = 2213][Question Description = Q35_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8849]
2. 2 [Option ID = 8850]
3. 3 [Option ID = 8851]
4. 4 [Option ID = 8852]

Correct Answer :-
e 1 [Option ID = 8849]
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[Question ID = 2214][Question Description = Q36_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8853]



2. 2 [Option ID = 8854]
3. 3 [Option ID = 8855]
4. 4 [Option ID = 8856]

Correct Answer :-

e 1 [Option ID = 8853]
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[Question ID = 2215][Question Description = Q37_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8857]
2. 2 [Option ID = 8858]
3. 3 [Option ID = 8859]
4. 4 [Option ID = 8860]

Correct Answer :-

e 1 [Option ID = 8857]
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[Question ID = 2216][Question Description = Q38_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8861]
2. 2 [Option ID = 8862]
3. 3 [Option ID = 8863]
4. 4 [Option ID = 8864]

Correct Answer :-
e 1 [Option ID = 8861]
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[Question ID = 2217][Question Description = Q39_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8865]
2. 2 [Option ID = 8866]
3. 3 [Option ID = 8867]
4. 4 [Option ID = 8868]

Correct Answer :-
e 1 [Option ID = 8865]
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[Question ID = 2218][Question Description = Q40_Kashmiri_SHAAN_3DEC_S1_Shift1]



1 [Option ID = 8869]
2 [Option ID = 8870]
3 [Option ID = 8871]
4 [Option ID = 8872]
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Correct Answer :-
e 1 [Option ID = 8869]
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Choose the correct answer from the options given below :
(&), (B). (C). D) only (2) (A). (B). (C). (E)only (1)
(B). (C). (D). (E)only (4 @), (C). D). (Eyonly  (3)

[Question ID = 2219][Question Description = Q41_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8873]
2. 2 [Option ID = 8874]
3. 3 [Option ID = 8875]
4. 4 [Option ID = 8876]

Correct Answer :-

e 1 [Option ID = 8873]
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Choose the correct answer from the options given below :
A). D). (). (B)only (2) (A). B). (C). Myonly (1)
(B). (C). (D). (A)only (4 (A). (B). (C). (Eyonly  (3)

[Question ID = 2220][Question Description = Q42_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8877]
2. 2 [Option ID = 8878]
3. 3 [Option ID = 8879]
4. 4 [Option ID = 8880]

Correct Answer :-



e 1 [Option ID = 8877]
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Choose the correct answer from the options given below :
(A). (B). (C). D) only (2) A). (B). (C). (E)only (1)
(C). (D). (A). (B)only (4 (D). (B). (C). A only  (3)

[Question ID = 2221][Question Description = Q43_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8881]
2. 2 [Option ID = 8882]
3. 3 [Option ID = 8883]
4. 4 [Option ID = 8884]

Correct Answer :-

e 1 [Option ID = 8881]
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Choose the correct answer from the options given below :
(C). (D). (A). (E)only (2) (E). (C). (B). D) only (1)
(A). (B). (C). (E) only (4) (B). (D), (E). (A)only  (3)

[Question ID = 2222][Question Description = Q44_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8885]
2. 2 [Option ID = 8886]
3. 3 [Option ID = 8887]
4. 4 [Option ID = 8888]

Correct Answer :-
e 1 [Option ID = 8885]
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Choose the correct answer from the options given below :
(B). (). (D). (A only (2) @A). B). (C). (E)only (1)
(E). (D). (B). (A) only (4) (C). (D). (A). (E)only  (3)

[Question ID = 2223][Question Description = Q45_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8889]
2. 2 [Option ID = 8890]
3. 3 [Option ID = 8891]
4. 4 [Option ID = 8892]

Correct Answer :-
e 1 [Option ID = 8889]
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Choose the correct answer from the options given below :
(A), (C), (D). (E)only (2) (A). B). (C). Dyonly (1)
(B). (C). (D). (E) only (4) (B). (A). (D), (C)only  (3)

[Question ID = 2224][Question Description = Q46_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8893]
2. 2 [Option ID = 8894]
3. 3 [Option ID = 8895]
4. 4 [Option ID = 8896]

Correct Answer :-

e 1 [Option ID = 8893]

4

‘.97;,)‘:"‘ Qr!,v'p‘ -j{fTLJ?_z:.f; :L{ LlfJ.L ?', .llj,ﬁ‘g

-
i P | R



ufygé-’;;wﬁ' (B)
J,-v')!f IJ/L ©)

il d o
~.;’,-r’ld,:. o 2d ®

Choose the correct answer from the options given below :
(B). (C). (D). (E) only (2) (A). (B). (C). D)only (1)
(D). (C). (B). (A) only (4) (A). (C). (D). (E)only  (3)

[Question ID = 2225][Question Description = Q47_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8897]
2. 2 [Option ID = 8898]
3. 3 [Option ID = 8899]
4. 4 [Option ID = 8900]

Correct Answer :-

e 1 [Option ID = 8897]
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Choose the correct answer from the options given below :
(B). (C). (D). (E)only  (2) A). B). (C). Dyonly (1)
(C). (B). (A). (E) only (4) (E), D). (B). (A)only  (3)

[Question ID = 2226][Question Description = Q48_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8901]
2. 2 [Option ID = 8902]
3. 3 [Option ID = 8903]
4. 4 [Option ID = 8904]

Correct Answer :-
e 1 [Option ID = 8901]
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Choose the correct answer from the options given below :
(A), (C). (D). (E)only (2) (E). (D). (C). B)only (1)
(A). (B). (C). D)only (4 (E). (A). (B). D)only  (3)

[Question ID = 2227][Question Description = Q49_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8905]
2. 2 [Option ID = 8906]
3. 3 [Option ID = 8907]
4. 4 [Option ID = 8908]

Correct Answer :-

& 1 [Option ID = 8905]
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Choose the correct answer from the options given below :

(E). (D). (C). (B)only (2) (A). (B). (C). M)yonly (1)
(E). (D). (B). (A) only (4) (©).(A). D). (Eyonly  (3)

[Question ID = 2228][Question Description = Q50_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8909]
2. 2 [Option ID = 8910]
3. 3 [Option ID = 8911]
4. 4 [Option ID = 8912]

Correct Answer :-
e 1 [Option ID = 8909]
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Choose the correct answer from the options given below :

(&), (E). (C). (B)only (2) (B). (C). (D). (E)only (1)
(C). (E). (B). (A)only (4) (A). (B). (C). D)only  (3)

[Question ID = 2229][Question Description = Q51_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8913]
2. 2 [Option ID = 8914]
3. 3 [Option ID = 8915]
4. 4 [Option ID = 8916]

Correct Answer :-

e 1 [Option ID = 8913]
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Choose the correct answer from the options given below :

(A), (B). (C). D) only (2) (&), (B). (C). (E)only (1)
(B). (C). (D). (E) only (4 (B)., (A). (D). (E)only  (3)

[Question ID = 2230][Question Description = Q52_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8917]
2. 2 [Option ID = 8918]
3. 3 [Option ID = 8919]
4. 4 [Option ID = 8920]

Correct Answer :-
e 1 [Option ID = 8917]
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Choose the correct answer from the options given below :

(E), D). (C), (A) only (2) (E), D). (B). A only (1)
(B). (C). (D). (E) only (4 (A), (B). (C). D)only  (3)

[Question ID = 2231][Question Description = Q53_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8921]
2. 2 [Option ID = 8922]
3. 3 [Option ID = 8923]
4. 4 [Option ID = 8924]

Correct Answer :-

e 1 [Option ID = 8921]
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Choose the most appropriate answer from the options given below :

(A), (©). (D). (E) only  (2) (&), (B). (C). Dyonly (1)
(A). (B). (D). (E)only (4 (E). D). (C). B)only  (3)

[Question ID = 2232][Question Description = Q54_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8925]
2. 2 [Option ID = 8926]
3. 3 [Option ID = 8927]
4. 4 [Option ID = 8928]

Correct Answer :-
e 1 [Option ID = 8925]

—* (B)
A" (C)
\.«ﬁﬂ; (D)
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Choose the most appropriate answer from the options given below :

(&), (B). (C). M) only  (2) (&), (B). D). (E)only (1)
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[Question ID = 2233][Question Description = Q55_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8929]
2. 2 [Option ID = 8930]
3. 3 [Option ID = 8931]
4. 4 [Option ID = 8932]

Correct Answer :-

e 1 [Option ID = 8929]
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Choose the most appropriate answer from the options given below :

(E), (D). (C). (B) only (2) (&), (B). (C). D) only (1)
(B). (C). (D). (E) only  (4) (A). (B). (C). (E)only  (3)

[Question ID = 2234][Question Description = Q56_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8933]
2. 2 [Option ID = 8934]
3. 3 [Option ID = 8935]
4. 4 [Option ID = 8936]

Correct Answer :-
e 1 [Option ID = 8933]
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Choose the most appropriate answer from the options given below :

(&), (C). (D). (E) only (2) (A). B). (C). D)yonly (1)
(&), (B). (D). (E) only (4) (E). D). (C). B)only  (3)

[Question ID = 2235][Question Description = Q57_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8937]
2. 2 [Option ID = 8938]



3. 3 [Option ID = 8939]
4. 4 [Option ID = 8940]

Correct Answer :-
e 1 [Option ID = 8937]
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Choose the most appropriate answer from the options given below :

(&), (B). (C). (E) only  (2) (E). @). (C). Byonly (1)
(A), (B). (C). (D) only  (4) (D). (E). (A). (B)only  (3)

[Question ID = 2236][Question Description = Q58_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8941]
2. 2 [Option ID = 8942]
3. 3 [Option ID = 8943]
4. 4 [Option ID = 8944]

Correct Answer :-
e 1 [Option ID = 8941]
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Choose the correct answer from the options given below :
(A). B). (C). M) only (2) (A), (©). D). (E)only (1)
(A). (B), D). (E)only (4 (E). (D). (C). B)only  (3)

[Question ID = 2237][Question Description = Q59_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8945]
2. 2 [Option ID = 8946]
3. 3 [Option ID = 8947]
4. 4 [Option ID = 8948]

Correct Answer :-
e 1 [Option ID = 8945]
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Choose the most appropriate answer from the options given below :

(D). (C). (B). (A only (2) (A). (B). (C). M)only (1)
(B). (D). (E). (A) only (4 (&), (©). (D). (Eyonly  (3)

[Question ID = 2238][Question Description = Q60_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8949]
2. 2 [Option ID = 8950]
3. 3 [Option ID = 8951]
4. 4 [Option ID = 8952]

Correct Answer :-
e 1 [Option ID = 8949]
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J. ©
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Choose the most appropriate answer from the options given below :
(A). (B)., (O), (E) only (2) (A). (B). (C), (D) only (1)
(E), (D). (C). (B) only (4) (E). (D). (B). (A) only (3)

[Question ID = 2239][Question Description = Q61_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8953]
2. 2 [Option ID = 8954]
3. 3 [Option ID = 8955]
4. 4 [Option ID = 8956]

Correct Answer :-

e 1 [Option ID = 8953]
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Choose the most appropriate answer from the options given below :
(D). (C). (A). (E) only (2) (A). (B). (C). Dyonly (1)
(A). (B). (C). (E) only (4) (E), (D). (C). (B)only  (3)

[Question ID = 2240][Question Description = Q62_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8957]
2. 2 [Option ID = 8958]
3. 3 [Option ID = 8959]
4. 4 [Option ID = 8960]

Correct Answer :-
e 1 [Option ID = 8957]
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Choose the most appropriate answer from the options given below :
(E). (D). (B), (A)only (2) (A). (B). (C). D)only (1)
(B). (C). (D). (E)only (4) (A). (C). (D). (E)only  (3)

[Question ID = 2241][Question Description = Q63_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8961]
2. 2 [Option ID = 8962]
3. 3 [Option ID = 8963]
4. 4[Option ID = 8964]

Correct Answer :-

e 1 [Option ID = 8961]
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Choose the most appropriate answer from the options given below :
(A), (B). (C). (E) only (2) (A), (B), (C). (D) only (1
(A). (B). (D). (E)only (4) (E). D), (C). B)only  (3)
[Question ID = 2242][Question Description = Q64_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8965]
2. 2 [Option ID = 8966]

3. 3 [Option ID = 8967]
4. 4 [Option ID = 8968]

Correct Answer :-

e 1 [Option ID = 8965]
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Choose the most appropriate answer from the options given below :
(&), (C), (D), (E) only (2) (A), (B). (C). (D) only (1)
(A), (B). (D), (E) only (4) (C), (D). (E). (B) only (3

[Question ID = 2243][Question Description = Q65_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8969]
2. 2 [Option ID = 8970]
3. 3 [Option ID = 8971]
4. 4 [Option ID = 8972]

Correct Answer :-

e 1 [Option ID = 8969]
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Choose the correct answer from the options given below :
(A)-ID), (B)-@. (C)-AV). (D)-dII) (1)
(A)-IV). (B)-ID. (O-aID. D)-0)  (2)
(A)-(D. (B)-(II). (C)-AD. (D)-AV)  (3)
(A)-(ID). (B)-IV), (C)-(D. M)-(I) (4
[Question ID = 2244][Question Description = Q66_Kashmiri_SHAAN_3DEC_S1_Shift1]
1 [Option ID = 8973]
2 [Option ID = 8974]

3 [Option ID = 8975]
4 [Option ID = 8976]

A w N =

Correct Answer :-
e 1 [Option ID = 8973]

Match List I with List IT :
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Choose the correct answer from the options given below :

(A)-(D. (B)-(ID). (C)-(1ID. (D)-aAV) (1)
(A)-(IV), (B)-(D). (C)-(ID), (D)-AII)  (2)
(A)-(11I), (B)-IV). (O)-(D). (D)-II) (3
(A)-D), (B)-(III). (O)-IV). D)-M @D
[Question ID = 2245][Question Description = Q67_Kashmiri_SHAAN_3DEC_S1_Shift1]
1 [Option ID = 8977]
2 [Option ID = 8978]

3 [Option ID = 8979]
4 [Option ID = 8980]
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Correct Answer :-
e 1 [Option ID = 8977]

Match List T with List IT :
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Choose the correct answer from the options given below :

(A)»-IV). (B)-(I1L). (O)-AD. (D)-@M) (1)
(A)-1D, (B)-D. (O-1ID, (D)-aAV) (2
(A)-(D. (B)-IV). (CO)«ID). (D))  (3)
(A)-ID). (B)-(D). (O)-AV). (D)-(II) (@)

[Question ID = 2246][Question Description = Q68_Kashmiri_SHAAN_3DEC_S1_Shift1]

1 [Option ID = 8981]

2 [Option ID = 8982]

3 [Option ID = 8983]
4 [Option ID = 8984]

A W N -

Correct Answer :-
e 1 [Option ID = 8981]

Match List T with List IT :
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Choose the correct answer from the options given below :
(A)-D), (B)-dD. (O)-AV). (D)-II) (1)
(A)-(IV). (B)-(ID). (C)-(D. (D)-(ID)  (2)
(A)-(IIL). (B)-(IV). (C)-(ID. (D)-I)  (3)
(A)-(ID), (B)-@). (O)-(1ID. (D)-AV) (4

[Question ID = 2247][Question Description = Q69_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8985]
2. 2 [Option ID = 8986]
3. 3 [Option ID = 8987]
4. 4 [Option ID = 8988]

Correct Answer :-
e 1 [Option ID = 8985]
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Choose the correct answer from the options given below :

(A)-IV), (B)-ID). (CO)-(@). M)-AID) (1)



(A)-IID). (B)-D). (C)-@V). D)-AD (2
(A)-D), (B)-(IV). (CO)-D). (D)-M  (3)
(A)-@. (B)-ID. (O, D)-IV) (4

[Question ID = 2248][Question Description = Q70_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8989]
2. 2 [Option ID = 8990]
3. 3 [Option ID = 8991]
4. 4 [Option ID = 8992]

Correct Answer :-

e 1 [Option ID = 8989]

71) Match List I with List IT ;
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Choose the correct answer from the options given below :
(A)-(IV). (B)-ID. (C)-(1ID). M)-@M (1)
(A)-ID. (B)-IID. (C)-0). M)-AV) (2
(A)-0. B)-AV). (O-ID. O)-d) (3
(A)-IID. (B)-(D. (O)-AV), D)-II) (&

[Question ID = 2249][Question Description = Q71_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8993]
2. 2 [Option ID = 8994]
3. 3 [Option ID = 8995]
4. 4 [Option ID = 8996]

Correct Answer :-
e 1 [Option ID = 8993]
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Choose the correct answer from the options given below :
(A)-(III). (B)-(D). (O)-IV). (D)-ID) (1)
(&)-1I), (B)-(ILL), (O)-(D. (D)-AV) (@)
(A)-(D. (B)-IV). (OAID. ()-AI)  (3)
(A)-(IV), (B)-D). (O)-IID. (D)D) (4



[Question ID = 2250][Question Description = Q72_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8997]
2. 2 [Option ID = 8998]
3. 3 [Option ID = 8999]
4. 4 [Option ID = 9000]

Correct Answer :-
e 1 [Option ID = 8997]
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Choose the correct answer from the options given below :
(A)-aD. (B)-D. (O)-ID. (D)-AV) (1)
(A)-(IIT), (B)-IV). (O)-AD. D)-M  (2)
(A)-IV). (B)-ID). (O)-@. (D)-ID)  (3)
(A)-@. B)-ID. (O)-AV). M)-II) @

[Question ID = 2251][Question Description = Q73_Kashmiri_SHAAN_3DEC_S1_Shift1]
1 [Option ID = 9001]
2 [Option ID = 9002]
3 [Option ID = 9003]
4 [Option ID = 9004]
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Correct Answer :-
e 1 [Option ID = 9001]
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Choose the correct answer from the options given below :
A)-IV). B)-D. (C)-dID. M)-@ (D)
(A)-(II), (B)-(I), (C)-AV). D)1  (2)
(A)-(D), (B)-(IL), (C)-(D). (D)-AV)  (3)
(A)-D). (B)-AV), (CO)-ID, (D)-IIL)  (4)
[Question ID = 2252][Question Description = Q74_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 9005]
2. 2 [Option ID = 9006]



3. 3 [Option ID = 9007]
4. 4 [Option ID = 9008]

Correct Answer :-
e 1 [Option ID = 9005]

75) Match List I with List IT :
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Choose the correct answer from the options given below :
(A)-(IV), (B)-I). (O)-(D. (D)-All) (1)
(A)-ID), (B)-D. (C)-dII). (D)-AV)  (2)
(A)-(D. (B)-ID). (C)-aV). (D)-1) (3
(A)-(IID. (B)-(IV), (C)-AD. D)-I) (4

[Question ID = 2253][Question Description = Q75_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9009]
2. 2 [Option ID = 9010]
3. 3 [Option ID = 9011]
4. 4 [Option ID = 9012]

Correct Answer :-
e 1 [Option ID = 9009]
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Choose the correct answer from the options given below:
(B). (C). D). (A). (E) (2) (E). (C). (B). (4. D) (D)
(E). (D). (A). (B). (C) @ @). B). (). D). E) 3

[Question ID = 2254][Question Description = Q76_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9013]
2. 2 [Option ID = 9014]
3. 3 [Option ID = 9015]
4. 4 [Option ID = 9016]

Correct Answer :-



e 1 [Option ID = 9013]
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Choose the correct answer from the options given below:
(A). (), (B), (E). D) @) (©). B). ). D). E @)
(A). (C). (B). D). (E) D) (D). (E). (B). (C). (A  (3)

[Question ID = 2255][Question Description = Q77_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9017]
2. 2 [Option ID = 9018]
3. 3 [Option ID = 9019]
4. 4 [Option ID = 9020]

Correct Answer :-

e 1 [Option ID = 9017]
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Abzurd Theatre (A)
Epic Theatre (B)
Tragedy (0
Social Drama (D)

Historical Drama (E)

Choose the correct answer from the options given below:
(©). (E), (D). A). (B) (2) (E). A). 0. D). B @)
(©). (A). (B). D). (E) (4) @A), (E). D). B).(C) (3

[Question ID = 2256][Question Description = Q78_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9021]
2. 2 [Option ID = 9022]
3. 3 [Option ID = 9023]
4. 4 [Option ID = 9024]

Correct Answer :-

e 1 [Option ID = 9021]
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Choose the correct answer from the options given below:
(E). (D), (A4). (B). (C) (@) (©). (A). (B). (D), (E) (1)
(E). (C). (B). A). D) 4@ @A). B). (C). D). E  3)

[Question ID = 2257][Question Description = Q79_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9025]
2. 2 [Option ID = 9026]
3. 3 [Option ID = 9027]
4. 4 [Option ID = 9028]

Correct Answer :-
e 1 [Option ID = 9025]
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Choose the correct answer from the options given below:
(B). (C). D). (A). (E) (2) (©). (D). (A). (B). (E) (1)
(B). (D). (E). (C). (A) @) (E), D). (C). A). B (3)

[Question ID = 2258][Question Description = Q80_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9029]
2. 2 [Option ID = 9030]
3. 3 [Option ID = 9031]
4. 4 [Option ID = 9032]

Correct Answer :-

e 1 [Option ID = 9029]
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Choose the correct answer from the options given below:
(A, (B), (C). B), D) (2) (€).B). M. (E).A @
(B). (A). (C). D). (E) 4 (D). (C). (E). (B)., (A) (3)

[Question ID = 2259][Question Description = Q81_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9033]
2. 2 [Option ID = 9034]
3. 3 [Option ID = 9035]
4. 4 [Option ID = 9036]

Correct Answer :-
e 1 [Option ID = 9033]
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Choose the correct answer from the options given below:
(E). D). A). (B). (C) @) A). (C). (B). (E). D) (1)
(D). (E). (C). (A). (B) (4) (C). A). (B). D). (E)  (3)

[Question ID = 2260][Question Description = Q82_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9037]
2. 2 [Option ID = 9038]
3. 3 [Option ID = 9039]
4. 4 [Option ID = 9040]

Correct Answer :-

e 1 [Option ID = 9037]
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Choose the correct answer from the options given below:
(B). (C), D). (E). (&) (2) (A). (B). (C). (D), (E) (1)
(©). (B). (A). D). (E) (4 (E). D). (C). B, A) 3

[Question ID = 2261][Question Description = Q83_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9041]
2. 2 [Option ID = 9042]
3. 3 [Option ID = 9043]
4. 4 [Option ID = 9044]

Correct Answer :-
e 1 [Option ID = 9041]
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Choose the correct answer from the options given below:
(). (C). B). A). D) @) (A), (B). (D). (C). (E) (1)
(D). (E). (C), (B). (A) (4) (B). (A). (C). (E). (D) (3

[Question ID = 2262][Question Description = Q84_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9045]
2. 2 [Option ID = 9046]
3. 3 [Option ID = 9047]
4. 4 [Option ID = 9048]

Correct Answer :-
e 1 [Option ID = 9045]
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Choose the correct answer from the options given below:
(A). (B). (C). (E). @) (2) (E). (B). (C). D). &) (D)
(O). (E). (B). (A). D) (4 (E). (A). B). (D). (C) (3
[Question ID = 2263][Question Description = Q85_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9049]
2. 2 [Option ID = 9050]

3. 3 [Option ID = 9051]
4. 4 [Option ID = 9052]

Correct Answer :-
e 1 [Option ID = 9049]

86) Given below are two statements : one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

I
AR EFm i LT L sy miontion

Ur!f/ Z, Q"j/”*" : (R) Reason

In the light of the above Statements. choose the most appropriate answer from the
options given below :

Both (A) and (R) are correct and (R) is the correct explanation of (A) (1)
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A) (2)
(A) is correct but (R) 1s not correct (3

(A) is not correct but (R) is correct (4)

[Question ID = 2264][Question Description = Q86_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9053]
2. 2 [Option ID = 9054]
3. 3 [Option ID = 9055]
4. 4 [Option ID = 9056]

Correct Answer :-

& 1 [Option ID = 9053]

Given below are two statements : one is labelled as Assertion (A) and the other is
labelled as Reaszon (R) :

-

o A
__SE"JJMU"\_/_‘C"J!' ?’J}':{A) Assertion

R AT ]
;!'?’I..;J,Aa-f.ll/@*" -JJJ!E/A : (R) Reason

In the light of the above Statements, choose the most appropriate answer from the

options given below :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A) (1)
Both (A) and (R) are correct but (R) is not the correct explanation of (A) (2)
(A) 1= correct but (R) is not correct (3)

(A) 1= not correct but (R) is correct (4

[Question ID = 2265][Question Description = Q87_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9057]
2. 2 [Option ID = 9058]
3. 3 [Option ID = 9059]



4. 4 [Option ID = 9060]
Correct Answer :-

e 1 [Option ID = 9057]

Given below are two statements : one 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

, -
X £ . " " i
e al . J,fufiwlh.«lj; »_.-J_».;L.-t-'r: ur[.,:g:{A) Assertion

b U]

F - o = o _,:-A
_uré;r_.lxs,{byl,a:;'[,;bl;ﬂ: u’f[/ : (R) Reason

¥

In the light of the above Statements. choose the most appropriate answer from the
options given below :
Both (A) and (R) are true and (R) is the correct explanation of (4) (1)
Both (A) and (R) are true but (R) is not the correct explanation of (A) (2)
(A) 1z true but (R) is false (3)
(A) 1s false but (R) 1s true (4)
[Question ID = 2266][Question Description = Q88_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9061]
2. 2 [Option ID = 9062]
3. 3 [Option ID = 9063]
4. 4 [Option ID = 9064]
Correct Answer :-

e 1 [Option ID = 9061]

Given below are two statements :

. o ;,:’ y : Statement
LI lz b>ls I

- ¥

-olbld};;z,;w'i : Statement II

In the light of the above Statements. choose the most appropriate answer from the

options given below :

Both Statement I and Statement IT are correct (1)

Both Statement I and Statement II are incorrect (2)
Statement I 1s correct but Statement II is incorrect (3
Statement I 1s incorrect but Statement II is correct (4

[Question ID = 2267][Question Description = Q89_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9065]
2. 2 [Option ID = 9066]
3. 3 [Option ID = 9067]
4. 4 [Option ID = 9068]

Correct Answer :-

e 1 [Option ID = 9065]

Given below are two statements :



-f«;,L"f«-r -._.—g,f' d L}J,z: “;J; U’Ju's Statement I

o=, v"w 7 (5 L;J /" ~ U v : Statement IT

In the light of the above Statements. choose the most appropriate answer from the

options given below :
Both Statement I and Statement I are true (1)
Both Statement I and Statement II are false (2)
Statement I 1s true but Statement II 1s false (3)

Statement I 1s false but Statement IT is true (4)

[Question ID = 2268][Question Description = Q90_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9069]
2. 2 [Option ID = 9070]
3. 3 [Option ID = 9071]
4. 4 [Option ID = 9072]

Correct Answer :-
e 1 [Option ID = 9069]

Topic:- Kashmiri_SET1_B
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[Question ID = 2269][Question Description = Q91_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9073]
2. 2 [Option ID = 9074]
3. 3 [Option ID = 9075]



4. 4 [Option ID = 9076]

Correct Answer :-
e 1 [Option ID = 9073]
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[Question ID = 2270][Question Description = Q92_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9077]
2. 2 [Option ID = 9078]
3. 3 [Option ID = 9079]
4. 4 [Option ID = 9080]

Correct Answer :-
e 1 [Option ID = 9077]
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[Question ID = 2271][Question Description = Q93_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9081]
2. 2 [Option ID = 9082]
3. 3 [Option ID = 9083]
4. 4[Option ID = 9084]

Correct Answer :-
e 1 [Option ID = 9081]
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[Question ID = 2272][Question Description = Q94_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9085]
2. 2 [Option ID = 9086]
3. 3 [Option ID = 9087]
4. 4 [Option ID = 9088]

Correct Answer :-
e 1 [Option ID = 9085]
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[Question ID = 2273][Question Description = Q95_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9089]
2. 2 [Option ID = 9090]
3. 3 [Option ID = 9091]
4. 4 [Option ID = 9092]

Correct Answer :-
e 1 [Option ID = 9089]

Topic:- Kashmiri_SET1_C
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[Question ID = 2274][Question Description = Q96_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9093]
2. 2 [Option ID = 9094]
3. 3 [Option ID = 9095]
4. 4 [Option ID = 9096]

Correct Answer :-
e 1 [Option ID = 9093]
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[Question ID = 2275][Question Description = Q97_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9097]
2. 2 [Option ID = 9098]
3. 3 [Option ID = 9099]
4. 4 [Option ID = 9100]

Correct Answer :-
e 1 [Option ID = 9097]
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[Question ID = 2276][Question Description = Q98_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9101]
2. 2 [Option ID = 9102]
3. 3 [Option ID = 9103]
4. 4 [Option ID = 9104]

Correct Answer :-
e 1 [Option ID = 9101]
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[Question ID = 2277][Question Description = Q99_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9105]
2. 2 [Option ID = 9106]
3. 3 [Option ID = 9107]
4. 4 [Option ID = 9108]

Correct Answer :-
e 1 [Option ID = 9105]
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[Question ID = 2278][Question Description = Q100_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9109]
2. 2 [Option ID = 9110]
3. 3 [Option ID = 9111]
4. 4 [Option ID = 9112]

Correct Answer :-
e 1 [Option ID = 9109]

Topic:- 03rd_Set7_A

1) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
elight vears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the yvear 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
- (in R=. Billion) | (in Rs. Million)
2013 3 500
2014 [§] 900
2015 g 200
2016 fi 400
2017 3] 700
2018 9 800
2019 8 700
2020 10 GO0
Tahble — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVsz 20%
Smartphones 40%
Miscellaneous 15%

What is the average (in T billions) of the sales of ABC Corporation for the period 2013-20207
(1)

3 7.0 4 80

Qr

5 @ 6.0



Ir= & e At voE H. wHIE % a9 2013-2020 % =E S a9 w0 ekl 37T ST H g9 2 A
A= 11 a9 2020 fashi * wiawd F1 90 &0 2707 300 | goid 2 | aier § 20 T S#s] # 36

B ol ﬁ"T.’_Ei?FI'I?{

o ot el
(%. Wierm) | (3. W)
2013 3 500
2014 G 900
2015 3 200
2016 7 400
2017 5 700
2018 9 800
2019 3 700
2020 10 GO0

et — 11 : #offra. 39 2020 § fa@a

| Tkt i wiaeEe (%)
F 25%
2140 20%
e FH 40%
= 15%

ad 2013-2020 i =ty = fow v s =i, HiemeE # fah @ e (5. e 9) =327

(1) 5.5 (2) 6.0

(3) 7.0 4y 8.0

[Question ID = 2579][Question Description = Q01_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10313]
2. 2 [Option ID = 10314]
3. 3 [Option ID = 10315]
4. 4 [Option ID = 10316]

Correct Answer :-
e 1 [Option ID = 10313]

2) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
elght wvears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . ales _ Earnings
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 G 900
2015 3 200
2016 i 400
2017 b 700
2018 9 800
2019 8 700
2020 10 GO0
Table — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

For which vear was the percentage (%) increase in earnings from the previous vear highest?
(1) 2014 (2) 2015

(3) 2016 (4) 2017



= 4t T ArferE vEL . FEEEE F 99 2013-2020 F =E S 99 F el 3T ST H g9 2 oadn
Attt I1 = 2020 fashi = Tia9rd 1 AW 37em- 377 J0E 0 520dl 2 | aifehl § 50 T8 3s] % 3149
T Uve F I A

Atfert — [ : avan fasg vd ==

& Tk ESIp
(. fferm) | (3. W)
2013 3 500
2014 G 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 3 700
2020 10 G00

Alfert — 11 : #ofrrE, =79 2020 ® fa#3

| et i iEEe (%)
T 25%
4. 20%
™2 FHE 40%
e 15%

T 9 o g fi g o T (%) Jhg a7

(1) 2014 (2) 2015

(3) 2016 (4 2017

[Question ID = 2580][Question Description = Q02_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10317]
2. 2 [Option ID = 10318]
3. 3 [Option ID = 10319]
4. 4 [Option ID = 10320]

Correct Answer :-
e 1 [Option ID = 10317]

3) The following TableI shows the Sales and Earnings of ABC Corporation in the last

eight vears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the vear 2020. Based on the data in the tables, answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
} (in Rs. Ballion) | (in Rs. Mallion)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 G600
Table — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Salea
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What was the ratio of earnings to sales in 20157
(1 25:1 2 1:4

(3 1:25 (4 1:40

= 21 72 Arfernn v =i, wEieE F a9 2013-2020 % @E A8 99 61 Sshl S0 ™ R gl 2 qe



Aol II a9 2020 1okl =6 Tiaera 1 =F e - 2107 S0l 8 596l = | aiol 9 50 0 379s] & ATaN

e — I - T g vg

S Tl A
(=. fafer) | (5. Tafe=a)
2013 3 500
2014 G 900
2015 8 200
2016 T 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

ATt — 11 : i, =79 2020 § fa@a

a1 | et 1 i (%)
FE 25%
1.4, 20%
e FH 40%
= 15%

af 2015 § AT 7 foehl % s F ST F= ot

1 25:1 @ 1:4

(3 1:25 4) 1:40

[Question ID = 2581][Question Description = Q03_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10321]
2. 2 [Option ID = 10322]
3. 3 [Option ID = 10323]
4. 4 [Option ID = 10324]

Correct Answer :-
e 1 [Option ID = 10321]

4) The following TableI shows the Sales and Earnings of ABC Corporation in the last

eight vears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the year 2020. Based on the data in the tables., answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in R=. Billion) | (1in Rs. Mallion)
2013 3 500
2014 [§] 900
2015 8 200
2016 7 400
2017 5 700
2018 9 300
2019 8 700
2020 10 G600
Table — II : Categorv-wise sales in the vear 2020
Category Percentage (%) of Salez
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

Which of the following statements can be deduced from the data given in the Tables I and II?
(A) Sales of Smartphones in the vear 2020 exceeded total sales in the year 2013.

(B) Earnings for the year in which earnings were highest were more than the sales for the
year 1In which sales were lowest.

(C) If in the year 2020, the sales of Smartphones had been 10% less, and the sale of

e



LLOMPpULers Nad beell LUy NIgner, thern tne sdles 0L oINaritpnones Wolld nave Deell 1ess
than the sales of Computers.

Choose the correct answer from the options given below :
(I) (A only (2)
(3) (&) and (C) only (4)

(A) and (B) only
(C) only
= A TE Ao s HL FEATE F a9 2013-2020 F B 378 J91 #1 6 d TE F g9l 2 e

atterer I =99 2020 Taehl % wia9d =1 =97 5= -3 410 9 97 2 | aifers O 720 0SSl 3w

Atiern — [ : avan fag ud ==

& ek ESIp
(. fferm) | (=, W)
2013 3 500
2014 G 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 3 700
2020 10 600

Altert — 11 : &ofrrE, =9 2020 ® 33

| el i wiEEe (%)
T 25%
2141 20%
T 40%
= 15%

F=fefigs 2 & F9 =1/3 Fem avtorw 13 1149 30 0 sifwst % wnaw w forfea feen =1 @ 27
(A) = 2020 ¥ 72 wEEE H 4, 2013 F T faf @ wfew o

(B)  mA® AT e a9 4 53 A ~an fSehi At T 6 5 e & afie o |

(C) 3 R =79 2020 # wEFH 1 fasht 10 wioem F9 g4t 2t 311 Fege F1 fosfit 10 vfowm wifas =i
i fau o fommedl 9 @ wE1 3T w1 == HifAC

(1) a4 (A)
(3) = (A) 31 (C)

(2) T (A) HE (B)
@) Fad (C)

[Question ID = 2582][Question Description = Q04_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10325]
2. 2 [Option ID = 10326]
3. 3 [Option ID = 10327]
4. 4 [Option ID = 10328]

Correct Answer :-
e 1 [Option ID = 10325]

5) The following Table-I shows the Sales and Earnings of ABC Corporation in the last

eight vears from 2013-2020. and Table-II shows the percentage of Sales in four
different categories in the year 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in R=. Billion) | (in Rs. Million)
2013 B 500
2014 G 900
2015 8 200
2016 fi 400
2017 b 700
2018 9 200




Z01Y o oo
2020 10 G600

Table — II : Categorv-wise sales in the vear 2020

Category Percentage (%) of Salez
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the sum total (in ¥ millions) of the earnings of ABC Corporation for the period
2013-2019?

(1) 4800 (2) 4200
(3) 4000 (4) 5000

Hr= A T e v, wneE AT 2013-2020 F T oe a6 i o o g 2 e
Aot I1 =9 2020 fashi = Wiaere =1 90 Sem— 2307 A0 5 guia) 2 | aierr 3 150 T SRS AT
T U9 F I AT

" r"‘T.’F-im

-} Tt SIE]
(. faferm) | (3. faferm)
2013 3 500
2014 G 900
2015 8 200
2016 £l 400
2017 5 700
2018 9 800
2019 3 700
2020 10 600

et — 11 : #ffra. 99 2020 § fa@a

| ekt 1 i (%)
FE 25%
A4 20%
e TH 40%
= 15%

a9 2013-2019 1 waly * fou vt @, Hanem $1 9@ F1 B qe6e (7. Hiem 1) @ 27

(1) 4800 (2) 4200
(3) 4000 (4) 5000

[Question ID = 2583][Question Description = Q05_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10329]
2. 2 [Option ID = 10330]
3. 3 [Option ID = 10331]
4. 4 [Option ID = 10332]

Correct Answer :-
e 1 [Option ID = 10329]

Topic:- 03rd_Set7_B

1) Which of the following level of teaching lays stress on critical sifting of ideas at the highest
cognitive level?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
feffes 8 @ foam #1 #@ @ = I=aa9 a9EREE T T fEEn F o SseEEaEE EE W
o 27
(1) 0 & =0 (2) ST F A

(3)  fageff mas == (4) T@EEE fTFm =



[Question ID = 2584][Question Description = Q06_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10333]
2. 2 [Option ID = 10334]
3. 3 [Option ID = 10335]
4. 4 [Option ID = 10336]

Correct Answer :-
e 1 [Option ID = 10333]

Which of the following are the highest taxonomic categories in the cognitive. affective and
psychomotor domains of learning?

(A) Analysis

(B) Evaluation

(C) Awareness

(D) Characterization

(E) Naturalization

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (D) and (E) only
(3)  (B). (C) and (D) only (4) (C). (D) and (E) only

Frefefaa 7 @ =5 5 SaEeTE, SEeE A A S F A9 § Ioady i 40 6 7

(A)  TEvemm
B)  FE
(C) =y

D  AAfeEeE

(E)  ®Esirem

= f2u o famew § B HE 3 w1 =99 i

(1)  FAA(A). (B) 37 (C) (2) == (B), (D) ¥R (E)
(3) == (B). (C) #i (D) (4) === (C). (D) 4 (E)

[Question ID = 2585][Question Description = Q07_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10337]
2. 2 [Option ID = 10338]
3. 3 [Option ID = 10339]
4. 4 [Option ID = 10340]

Correct Answer :-
e 1 [Option ID = 10337]

3 : : ;
) Match List I with List 11
ListI List IT
Helping behavior of effective teaching Description
(A) Using student ideas of contributions (). Warm and nurturing relationship with
learners
(B) Structuring (IT) Teacher statements to encourage
students to elaborate on an answer
(C) Probing (ITT) Teacher comments for the purpose of
organizing what 1s to come
(D) Teacher affect (IV) Taking a student's response and
repeating or applying it

Choose the correct answer from the options given below :



1 A-IV), (B)-(ID). (CO)-ID, (D)D)
2 A-D. B)-1D, (C)-1ID). (D)-(IV)
(3)  A-ID. B)-D. (O)-aV). (D)-AID
(4 (A)-IID). B)-(1V). (C)-1). (D)-AD)

g1 F12 =11 =1 e e

T T 11
T fem F e =R farmmn
(A)  Tagmid=i = FeEEl + fa=Erl # 39E (I)  sATaTEFal=a % W WG vl A Hey
(B) T (ID) R F fga w0 F e, s = e
(C)  =ra-gsdie (IIT) =attan 1 =Faigd F + 399 § FAATH
(D) STETF TAE (IV) 319 F T F od 50 IH AgE @R
ST

-

= To3 U farweal § | |E I F 999 AT

(1) (A)-(IV). (B)-(I1II). (C)-(IT). (D)-(I)
(2) (A)-(I). (B)-(IT). (C)-(IIT}. (D)-(IV)
(3) (A)-(IT). (B)-(I). (C)-(IV). (D)-(I1I)

4) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
[Question ID = 2586][Question Description = Q08_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10341]
2. 2 [Option ID = 10342]

3. 3 [Option ID = 10343]
4. 4 [Option ID = 10344]

Correct Answer :-
e 1 [Option ID = 10341]

Given below are two statements :

Statement I: In norm-referenced testing of students. test data helps us determine a

students place or rank.

Statement IT : In Criterion-referenced testing. the test data tells us about a student’s level

of proficiency.
In the light of the above statements. choose the correct answer from the options given below :
' B Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
3 Statement I is true but Statement II 1s false
(4) Statement I 1= false but Statement II 1s true
FoF (1) : ot + e wida wiew 8, wam aiws et 5 e ot 1 fyifa =60 0 2
el Al 2 |

Fu (ID) :  Fer—wcda wliao 4, qiav-311%s TF S =l FIoar F w7 0 90 7 |



ITF FUE F AETF H, 49 50 T fFEed § 9 58 I F 994 i

(1) #3943 [L5H 9eg 2 |
2 FRIAITHIIE |
(3) Fud 14w 2, @t 99 [ o8 2 |

(4) T 1w\ 7, A w5 [LE 7 |
[Question ID = 2587][Question Description = Q09_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10345]
2. 2 [Option ID = 10346]
3. 3 [Option ID = 10347]
4. 4 [Option ID = 10348]

Correct Answer :-
e 1 [Option ID = 10345]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Modern and ICT based teaching support requires some technical

knowledge on the part of the teacher and learner.

Reasons (R) : Both teachers and learners have to be provided orientation in use of the

various support tools and technigques in an intelligent way.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) is false but (R) i=s true

= =1 Fo fou 0 # ;v AfEYS (Assertion A) F ®Y H fofEa # a1 390 3% FAU (Reason R) F

=Y

AT (A) : g 3 e = AL s Sre mEEe F S e i sfemema W

F TFATR] T I SATETERAT ST # |
1 (R) : oo 3R SAfamERals 3 1 iy gEreE ST 99 TR 6 TRl 2 o

'Jq%-.'?[ﬂ_’ m__' '\rr - n |

Y FYA F ATAF H, = 0 0 fFwea § ¥ ey Suge 36 H =991 i

(1) (A =R R) 3 T 2 AR R), (A) F1 FE =w=

(2 (A) =R R) 3 T E TR R). (A) F = = #H
(3 (A Az (R) 3783 7 |

(4  (A) 3784 ® =5 (R) 93 2|

[Question ID = 2588][Question Description = Q10_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10349]



2. 2 [Option ID = 10350]
3. 3 [Option ID = 10351]
4. 4 [Option ID = 10352]

Correct Answer :-
e 1 [Option ID = 10349]

6) Which of the following iz an example of qualitative research?
(1) Experimental research (2) Ex post facto research
(3) Descriptive surveyv research (4) Grounded theory rezearch

Frafafiza 3 @ == @1 TR W F OF I8 A7

(1)  wEmes Wy (2) FEER =Y
(3) TR mEEm wmy (4) wmaTieR fagyTw g

[Question ID = 2589][Question Description = Q11_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10353]

2. 2 [Option ID = 10354]

3. 3 [Option ID = 10355]

4. 4 [Option ID = 10356]

Correct Answer :-

e 1 [Option ID = 10353]

Identify from the list below the threats to internal validity of research.
(A) Interaction of selection and independent variable (X)

(B) Statistical regression

(C) Interaction of pretesting and X

(D)  Differential selection of subjects

(E)  Experimental mortality

Choose the correct answer from the options given below :
(1) (B). (D) and (E) only (2)  (A). (B) and (C) only
(3) (B). (C) and (D) only {(4) (C). (D) and (E) only
f=r <t 1 gt 8 @ vmmw Fifa = g i st duam + oo we 3 w2
(A) = i S S = = (X)
(B)  wifeEEE aieme
(C)  gEwiEw Fi st 31 X
(D) T w1 s ==
(E) et fakerar

= fou U ATl § | wE I o =E e

(1) &= (B). (D) 31 (E) (2) A= (A). (B) #E (C)
(3)  FF9 (B). (C) 51 (D) (4) Fa= (C). (D) #1 (E)

[Question ID = 2590][Question Description = Q12_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10357]
2. 2 [Option ID = 10358]
3. 3 [Option ID = 10359]
4. 4 [Option ID = 10360]

Correct Answer :-
e 1 [Option ID = 10357]

Match List I with List IT



ListI List IT

Research Steps Characteristics
(A) Research problem definition (I) Appropriateness of techniques and
their application
(B) Formulation of research hypothesis (IT) Development of a conceptual

framework which 1s In accord with
hypothesis of research

(C) Design of research (III) Defining the variables to be related in
unambiguous terms
(D) Data Analysis (IV) Academic and social value of the

research question to be weighed

Choose the correct answer from the options given below :

) Q-aID). B)-AV). (O-O. (0)-aD
@  (A)-QV), B)-TI), (O)-aT, D)-0
(3 @D, B)-D. (C)-1I), (D)-IV)
@) (A)D. B)-(D. (C)-aV). (D)-AID)

g1 % =ma g=-11 =1 foem Fifsm
EciN | T-IL
7MY = =T FoAE
(A)  wiry e 1w (I) AT =1 S9gFaaT #1396 S0
(B) T4 TFRETT T HEEA (II) % FEGRVICHS &= F1 f=FF| = g i
TSIl HATET |
(C) =g 1 uEY (IMT) =71 Ft I8 TegEc] T qieaed = |
(D) = TEvem (IV) 99 U9 % TFGHF 3T AETSF g0

e |
e o7 T fawedl | 8 "@E I 6 9 A
(1) (A)-(IIL). (B)-(IV). (C)-(I). (D)-(II)
(2) (A)-(IV). (B)-(I1II). (C)-(II). (D)-(I)
(3) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(4) (A)-(IT). (B)-(I). (C)-(IV). (D)-(11I)

[Question ID = 2591][Question Description = Q13_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10361]
2. 2 [Option ID = 10362]
3. 3 [Option ID = 10363]
4. 4 [Option ID = 10364]

Correct Answer :-
e 1 [Option ID = 10361]

Given below are two statements :

Statement I: Scientific research 1z systematic. controlled. empirical and critical

investigation of hypothetical propositions.

Statement IT: Population of research need not be defined in qualitative and guantitative

researches.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true



(2) Both Statement I and Statement IT are false
(3 Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement I is true

H= o FA R R

Fo (I):  AFIF w09 TieheTeqs W w1 Saed, A, 9T S A=A S A= |

o (ID) :  TTTeH AT HETeH ArEl § 90 = JE 1 I A i SAEEhd T8 f |

IUTRE YA AT °, A= o T e d 9 3 =9 i

()  =#FEIAR A g4 7 |

(2) A I 3R I 24 =188 & |

(3) w149 7, =T %y I 95T 2 |
(4 FEIEa:, A FE T2

[Question ID = 2592][Question Description = Q14_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10365]
2. 2 [Option ID = 10366]
3. 3 [Option ID = 10367]
4. 4 [Option ID = 10368]

Correct Answer :-
e 1 [Option ID = 10365]

10)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  Actual settings are the direct source of data and the researcher is the key
instrument in qualitative research.
Reasons (R) : The purpose underlying qualitative researches is relatively more directed

at depiction of reality rather than arriving at context free generalizations.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) i= false

(4) (A) is false but (R) is true

= 3 Fo fam w2 ; uF afiEe (Assertion A) F w7 § forfiad 2 o1 35 39% FW0 (Reason R)

=

AT (A) - ATEATTF GRS ARSI UeAH |id 7 AT ekl uTeRs Se 1 9T I F |



F1 (R) : TUTCHF I FT IHTT FEHAT AT 9% UEeH & S ARiasdr H s

= § HAfaF g =9 1§ fafa w1 2|

I FUA F ATEF H, 419 20 0 e 4 9 HeE I I H =9 I

(1) (A) 3R ®) TF T F IR ®). Q) F W ==
@ (A3 (R) ZA T E @ R). (A) F TF =men =1 2
(3) (A= z, wife (R) 318 7 |

4 (A ¥EF 2 J (R) T4 7

[Question ID = 2593][Question Description = Q15_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10369]
2. 2 [Option ID = 10370]
3. 3 [Option ID = 10371]
4. 4 [Option ID = 10372]

Correct Answer :-
e 1 [Option ID = 10369]

In describing elements of communication. a person or an event which provides verbal or
non-verbal use to which someone can respond 1s known as,

(1) Meszage (2) Source

(3) Channel (4) Communication context

TN F Acdl % (990 §, U SOt H9dl TH-H2A] gN HigE A1 9HhaE Ted 9o FOE O W
Tt = grr wfatEan &1 =1 99 2, F % T4 e -

1 == (2) @@
(3) aEw (F) (4) = TEd

[Question ID = 2594][Question Description = Q16_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10373]
2. 2 [Option ID = 10374]
3. 3 [Option ID = 10375]
4. 4 [Option ID = 10376]

Correct Answer :-
e 1 [Option ID = 10373]

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Agenda building is a collective communication process in which media,
government and the citizenry reciprocally influence one another.

Reasons (R) : Agenda building presumes cognitive effects and inactive audience with less
socletal-level effects.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) is false but (R) is true

9 21 99 o0 0 E : uF wiHFeH (Assertion A) F ®9 H faitgd = THI 3 % FWU (Reason R) &

AaFT (A) - F/E gl HE v AEiEs guee Hi-utma 2 f5ee ditem g S Geiee wemw



F1 (R) TG BAACHF THE AN SEET AT T FH GEEE T9E a JE 7

IUTT FA AT O, A9 40 T fEEed § H HE 39 6 =8 HIA

(1)  (A) 31T (R) TF1 &ea 2 391 (R). (A) =i @& = 7 |
(2) () 3T (R) TH1 @ca 2 =it (R). (A) 1 @@l =amen 76 2 |
(8)  (A)=ea =i (R) 3184 7 |

(4) (A) 37593 & o (R) oeF &

[Question ID = 2595][Question Description = Q17_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10377]
2. 2 [Option ID = 10378]
3. 3 [Option ID = 10379]
4. 4 [Option ID = 10380]

Correct Answer :-
e 1 [Option ID = 10377]

Given below are two statements :

Statement I: The art of Mass Communication 1s much more simple than of face to face

communication or any type of communication.

Statement II : Each of us uses 3S (Sight. Sound and Smell) and 2T (Touch and Taste) when

we communicate with others.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

= 3w e E

FoA (1) :  F59R 1 Fell GAFGE TU907 3117 3177 R v % g iy e s wme 2

FoA (ID) : =9 =9 T+ 919 T Fd £ 590 U g9 3S (72, S 0 ) 997 2T (Y9 37 =)
1 T AT 3 |

I FEA * AT 4, A= e T fawen 3 O 5d 3w # =g A

(1)  F I3 = o8 2 |

(2) w5 I3 7o 7 |

(8)  FwE ITA 2, wifhA wue 1L 7Ted 7 |

(4)  wy= 17 &, @t 59 L T8 2 |

[Question ID = 2596][Question Description = Q18_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10381]
2. 2 [Option ID = 10382]



3. 3 [Option ID = 10383]
4. 4 [Option ID = 10384]

Correct Answer :-
e 1 [Option ID = 10381]

Feedback reflects the reactions of the audience when :

(A) One knows the effects of communication.
(B) One knows the quality of content of the message.
(C) One knows the future prospect of the object of communication.

(D)  One knows the financial implications of the communication.

Choose the most appropriate answer from the options given below :

(1)  (A). (B). (D) only (2) (B). (D). (C) only
(3)  (A). (C). (D) only 4) (A). B), (C) only

TR (FresE) e i A w5 o 2 -
(A) IS TUNY F THE Bl A R

(B) 0% HE9l % feaeeg i e S
(D) IS HUNY % FATE HiEaTd = A 2 |

S fou U foet § O TEE 3UgEd I R =54 A
(1)  #a= (A). (B). (D) (2) a« (B). (D). (C)
(3)  ad (A). (0). (D) (4) Fast (A). (B). (C)

[Question ID = 2597][Question Description = Q19_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10385]
2. 2 [Option ID = 10386]
3. 3 [Option ID = 10387]
4. 4 [Option ID = 10388]

Correct Answer :-
e 1 [Option ID = 10385]

The power which comes through connectedness of one’s words matching one's feelings, body
and facial expression In communication process 1s known as :

(1) Conformity (2) Congruence
(3) Collaboration (4) Control

(1)  =AgETE (2) =g
(8)  =EEiE 4y

[Question ID = 2598][Question Description = Q20_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10389]
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4. 4 [Option ID = 10392]

Correct Answer :-
e 1 [Option ID = 10389]

L j ] O e e | TSR, Gt RSty il el e, e e i Ao IR P S L oy T e S T IO = T [ e e e S O



A T - i T T N P~ S S eSS et e, e e L W (LSOt It | TPRCEE o Wiy WIRRrst Eorwnsals el (0

customer paid 8,000/- for a mobile phone, then what was the cost price of the mobile?
(1) Rs. 5600 (2) Rs. 6000
(3) Rs. 6400 (49 Rs. 7000

HiETEA BF F = WEE ° A0 goF F 25% ATTE o 7 | SR A A "EEa w6 % faw 8,000/
T T P {61, T qisTse &1 @ god #1917

(1) 5600/ % (2) 6000/ #m
(3) 6400/ 7 (4) 7000/ =

[Question ID = 2599][Question Description = Q21_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10393]
2. 2 [Option ID = 10394]
3. 3 [Option ID = 10395]
4. 4 [Option ID = 10396]

Correct Answer :-
e 1 [Option ID = 10393]

17) .
In the letter series
B H. R F e
What 1s the next letter?
(1) L 2y Z
3 P 4 X
B.H.R.F. ..., ...... ™ %9 | 7o #A& FE-97 2m ¢
(1) L @2 Z
(3) P 4 X

[Question ID = 2600][Question Description = Q22_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10397]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
4. 4 [Option ID = 10400]

Correct Answer :-
e 1 [Option ID = 10397]

Given the relationship between variables Y and X : Y = X% if X changes by 6%, What is the
percentage change in Y?

(1)  ~36% @ ~12%
3 ~8% @ ~6%

Yot XF = w1 w9 Y=X>F =19 2| R X7 6% F uf@aq =1, @1 Y 7 Theom (%) e 0

Fm?
(1)  ~36% @ ~12%
3 ~8% @ ~6%

[Question ID = 2601][Question Description = Q23_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10401]
2. 2 [Option ID = 10402]
3. 3 [Option ID = 10403]
4. 4 [Option ID = 10404]

Correct Answer :-
e 1 [Option ID = 10401]

19) A man travels in a car from point A to point B and covers a distance of 120 km. During the
first 40 km, the speed of his car 1= 50 km/hr and for the rest of journev the speed of his car 1s
60 km/hr. What is the average speed of his car from point A to point B?

(1) 55 km/hr (2) 54.25 km/hr
(3) 56.25 km/hr (4) 58.25 km/hr

wF =afad foig A @ g B % s 120 fheifier $i 70 1 3 @9 ®an 2 | 30 e 40 Fretie % dm
TR FT AR Te AT T g f s e s e g0 e oageT 7T e AT e B S o9



IO FE T AT T T i

() 55w /g (2) 54.25 5 i g
(3)  56.25 i (4) 58.25 .1 /=

[Question ID = 2602][Question Description = Q24_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10405]
2. 2 [Option ID = 10406]
3. 3 [Option ID = 10407]
4. 4 [Option ID = 10408]

Correct Answer :-
e 1 [Option ID = 10405]

20) In the series
1,3.6,10, .........
What 1s the next term?
(1) 12 2y 15
(3) 18 4y 20
1.3.6.10. ......... ® %9 | 1 3AF 2O
(D 12 @ 15
(3 18 4 20

[Question ID = 2603][Question Description = Q25_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10409]
2. 2 [Option ID = 10410]
3. 3 [Option ID = 10411]
4. 4 [Option ID = 10412]

Correct Answer :-
e 1 [Option ID = 10409]

21 Which of the following options are true regarding inference with reference to classical Indian
system of logic?
(A) It 1s deductive
(B) It is inductive
(C) It has to be formally valid
(D) It has to be materially true
Choose the correct answer from the options given below :
(1) (A). (B) and (D) only (2) (A). (B) and (C) only
(3) (A (C) and (D) only 4) (A). (B). (C) and (D) only

TF AFA F A A g F STET SHEE & T 1 FAeiahed GEen 8 1 w1 6w 2

(A) == AT ?

(B) TR AFHATEHF 7 |

(C) =8 HA=es =9 ° 9% =41 9080 |

(D) T TEAWE =1 F T FA] A

i fau e F B =E I = A

(1) %A (A), (B) 3 (D) @ F= (A), (B) 3 (C)

(3)  F=d (A). (C) ¥ (D) @) (A). (B). (C) 31 (D)



[Question ID = 2604][Question Description = Q26_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10413]
2. 2 [Option ID = 10414]
3. 3 [Option ID = 10415]
4. 4 [Option ID = 10416]

Correct Answer :-
e 1 [Option ID = 10413]

The collection of all the objects to which a term may correctly be applied is called :
(A) The intension of that term

(B) Connotation of that term

(C) The extension of that term

(D) Denotation of that term

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B)and (C) only
(3) (A) and (D) only (4) (C)and (D) only

9 HH aEg Al # HuE e o v ug o wE ' 0 = e 9wt 2, Faerdr 2

() ¥\ Tg F e
(B) 3@ =AY
(C) =\ Ug F FEad
(D) 3T g A=A

Hi= fou o foepeat 9§ HE 3T 0 = b
(1) =4 (A) 3 (B) (2) =a= (B) 3l (C)

(3) A (A) 3T (D) (4 =9 (C) w7 (D)

[Question ID = 2605][Question Description = Q27_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10417]
2. 2 [Option ID = 10418]
3. 3 [Option ID = 10419]
4. 4 [Option ID = 10420]

Correct Answer :-
e 1 [Option ID = 10417]

“The Daily News carried an article this morning about some local teenagers who were
arrested on charges of drug possession. Teenagers these days are nothing but a bunch of
junkies”.

Which fallacy is committed in the above statement?

)] Red Herring

(2) Strawman

(3) Argument against the person (ad hominem)

(4) Hasty Generalization

2 TR A AT geE v o A e Fe wuEE SR w0 ae® Awie geel T A |

FAFaT e 7T o7 | 3ot & RO 37 53 741 e $3 % 2L 21 IU9d HeH H FF o1 Zcargi| A7
(1) Tz
@ wiE

(8) =t = fawg 7% (vz wfgE)
(4) St "=
[Question ID = 2606][Question Description = Q28_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 10421]
2. 2 [Option ID = 10422]



3. 3 [Option ID = 10423]
4. 4 [Option ID = 10424]

Correct Answer :-

e 1 [Option ID = 10421]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  The Naivayikas did not give separate treatment of the inductive methods,

as the western logicians have done.

Reasons (R) : According to WNyaya school universal propostions are obtained from

perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

= 21 wvE 2o T E v wfiEeE (Assertion A) % =9 § foAfigq 7 a1 TH 5% #M7 (Reason R)

= H -

AT (A) : AT 3 ATTHATRE U 1 YU WAl TE A 7 SE 6 ww=es % et |
T 2 |

FHA (R) : I WA % FAAN A sl selihe Toas 8§ U ToEiw 5 g

T = S E

ITF FU F I 1§, T dw e fament § 8 8 3w 9w it

(D) (A) # R) 3 T E A (R), (A) FwE == 2

(2 (A AR R) ZA T 7 w6 R). (A) F T =men 1= 2
(8) (A= 2 & (R) w903 7|

@ (A ¥\ 2 @ (R) B 7

[Question ID = 2607][Question Description = Q29_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10425]
2. 2 [Option ID = 10426]
3. 3 [Option ID = 10427]
4. 4 [Option ID = 10428]

Correct Answer :-
e 1 [Option ID = 10425]

Given below are two statements :

Statement I: Sesavata is the inference of what remains (sesa) by elimination of the
irrelevant.

Statement IT : E‘;esavata inference corresponds to the method of residues in western
inductive logic.



In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

4 Statement I is false but Statement II is true

Fod (I) :  9I9ad, ATEIE S ¥ S s 2 6 SEAE 7
Fo[ (II) :  ¥I9aq FTHE Tv=eT ATTHATHF T 5 STe i IOt O O @ # |
IWE FYF F o 4, T4 2w o O 4 ¥ w8 3w 9 i
() =9 L3R M 2H ge9 7 |
(2)  FF 3R I 2A a7 2 |
(3) w15 7, A w11 3| 2
(4) FF 1 55 2, o wu9 o 2
[Question ID = 2608][Question Description = Q30_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10429]
2. 2 [Option ID = 10430]
3. 3 [Option ID = 10431]
4. 4 [Option ID = 10432]

Correct Answer :-
e 1 [Option ID = 10429]

26
) When a computer is switched on, the BIOS is loaded from :
(1) Hard Disk (2) RAM
(3) ROM (499 CD-ROM

= T Heger =i feam #1i T s 2 91 BIOS fAeifeiaa 0 o e =g o wmar 27

(1) = === @
(3) T#\ (4) Higi-Tm

[Question ID = 2609][Question Description = Q31_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10433]
2. 2 [Option ID = 10434]
3. 3 [Option ID = 10435]
4. 4 [Option ID = 10436]

Correct Answer :-
e 1 [Option ID = 10433]

Identify the correct order of the following computer storage capacities ranked from largest to

smallest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes
(C) 1 TBytes

(D) 1000 000 KBytes



Choose the correct answer from the options given below :
() (C).(A). (D). (B) (2) (0. @A). ®B). D)

(3) (A, (). (D). (B 4 (A).(C), B). D)

Freafefas Foger s Auael i 590 AfE T T9E 70 G99 F 9 F5 4 e Fir |

(A) 100 T =2

(B) 10 000 000 000 =s2

(C) 12uwmEe

(D) 1000 000 FFe =22

e oo 1o famedt | 4 @@ ST 0 == i

1 (©C).(A). D). B 2) (©). @A), B). (D)
(3 (A (O). D). (B 4 @).(©),. [®B. D)

[Question ID = 2610][Question Description = Q32_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10437]
2. 2 [Option ID = 10438]
3. 3 [Option ID = 10439]
4. 4 [Option ID = 10440]

Correct Answer :-
e 1 [Option ID = 10437]

Given below are two statements:

Statement I: Search Engines are websites that help a user to search for information on

WWW.

Statement IT : For any search term, Search Engines provide the exact same results to all

the users.

In the light of the above statements, choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

= = e 3w o E



FAH (1) 0 8 A d9HIEL & A1 HHIEAD <h0 W AW VY 91 ATREN 8 v A HaT9d] w4l & |

Fu (II) : el o 20 o forw, @ S5 |t waan +i faegper weham™ aiwm 2d 7 |

I HYA AR 9, A= A T e § ¥ gEl I 1 = A

() = IHAR IS 59 & |
(2)  w [ #AR I3 78 7 |
(3)  wu\ 1@ 7, =i F9A [ 98 2

(4)  ®uA I A=ea 2, ol wuq 11 8eq 2 |

[Question ID = 2611][Question Description = Q33_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10441]
2. 2 [Option ID = 10442]
3. 3 [Option ID = 10443]
4. 4 [Option ID = 10444]

Correct Answer :-
e 1 [Option ID = 10441]

With respect to computers. which of the following are random access storage devices?
(A) Magnetic Tape
(B) Hard Disk

(C) Pen Drive

(D) CDROM

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2)  (A). (C), and (D) only

(3)  (B).(C) and (D) only 4 (A). (B) and (D) only

FEgZL F Ty °§ Aefeigd § @ FH-4 {30 veay w2 fgang 77

(A) TR 2
®B) =T
(C) I

D) i g wW A

= f2u U e | H HE 3 S = I

1y X FAN  FEN b 0 O e CAY FCT St (T



L ' 4 . FHIT b ‘e JRTE Rttt e B

(3  Faa (B). (O) 3% (D)

S U SR o B ooy DA b i St

(4) Fa (A), (B) # (D)

[Question ID = 2612][Question Description = Q34_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 10445]
2. 2 [Option ID = 10446]
3. 3 [Option ID = 10447]
4. 4 [Option ID = 10448]

Correct Answer :-
e 1 [Option ID = 10445]

30
‘ Match List I with List IT
ListI List IT
Computer Terms Description

(A) Magnetic Tape () Used in digital cameras photo printers
and cell phones

(B) Memory Card (IT) Uses laser beam technology to read or
write data

(C) Hard Disk (III) Used for data archival purposes but
must be accessed sequentially

(D) DVD (IV) A set of metal disks mounted on a
spindle

Choose the correct answer from the options given below :
(1) (A1), B)-@. (C)-aV). (D)-(ID
(2 @-aV). B)-D. (C)-11D. (D)-AD)

(3) (A1), B)-IV). (O)-M). (D)-AD
(4 @-ID. B)-I). (C)-[. (D)-IV)

=1 % T9 gH-11 1 faem it

-1 =111

(A) HHREE 29 (D fosfiza +mm, wiE e 3 Oa &9 °
T BT E |

(B) ©HM s (D) SE # T4 =@ forgd # fou o oW

(C) = fe&= (II) ST ATRSas T B UEG Bl B U
30 HAETEH B H FAHEAR UHHE S
=t |

(D) fammE =14 IV) TEuse w @ wHEw 50h % ag==g

Hr T2 o Tl @ | mE 3 = i

(1) (A)-(IID). (B)-(I). (C)-(IV). (D)-(ID)
(2)  (A)-IV). (B)-D), (C)-AID). (D)-(IT)
(3)  (A)-ID), B)-AV), (O)-(D). (D)-(ID
(4 (A)-ID. (B)-D. (CO)-@. (D)-IV)

[Question ID = 2613][Question Description = Q35_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10449]
2. 2 [Option ID = 10450]
3. 3 [Option ID = 10451]
4. 4 [Option ID = 10452]

Correct Answer :-
e 1 [Option ID = 10449]



What will be the resultant of two noise levels of 81 dB and 90 dB generated by two
independent sources?

(1) ~ 96 dB (2) ~91dB
(3) ~ 98 dB (49 ~118dB

=1 T Al ° giwa 81 sHfee 9l 90 Tefteer = ety = i oy = w5

(1) ~96dB 2 ~91dB
(3) ~98dB 4 ~118dB

[Question ID = 2614][Question Description = Q36_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10453]
2. 2 [Option ID = 10454]
3. 3 [Option ID = 10455]
4. 4 [Option ID = 10456]

Correct Answer :-
e 1 [Option ID = 10453]

32)  Match List I with List II
ListI List IT
(A) Eyoto Protocol (I} Clean and Affordable Energy
(B) Montreal Protocol (II) Clean Development Mechanism
(C) Paris Agreement (ITIT) Nationally Determined Contribution
(D) International Solar Alliance (IV) Phase out of chlorinated compounds

Choose the correct answer from the options given below :

(1) A-ID. (B)-(IV). (C)-(1IL), (D)-(ID)
2  @-0), B)-IID), (C)-(IV). (D)-(IL)
(3)  A-UID. B-aV). (O)-@). (D)-ID
(4  (A)-UID. B)-IV). (C)-(D. (D)-(ID

TH-1 % =1y gAi-11 =+ fiem fifae

-1 TH-I1
(A) T MEERE @ =8 A Tl w1
(B) Hifza=t W= I === =
(C) uftg wu= (1) wg/m =9 § faFHvEd TrEE

= o3 v fawedt 9 | @A SO =Ed Hif

(1)  (A)-(ID). (B)-(IV), (C)-(II), (D)-(D)
2 @D, B)-IID. (C)-(IV). (D)-1D)
(3)  (A)-D. (B)-IV), (O)-D). (D)-AID
4 (A-ID. (B)-(IV), (C)-@). (D)-(ID)

[Question ID = 2615][Question Description = Q37_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10457]
2. 2 [Option ID = 10458]
3. 3 [Option ID = 10459]
4. 4 [Option ID = 10460]

Correct Answer :-

e 1 [Option ID = 10457]

Given below are two statements:

[ D REPRTIe S i [o 108, TOCCEN e Rk Mot sl i S e e At oty onen SO sty T et . DYt ST Pt o e Nk iy ST . o s ST
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House Effect.
Statement II : Black absorber plat radiates infrared radiations.

In the light of the above statements., choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false

(4) Statement I 1s false but Statement II 1= true

Hra 2 o fao o ¥

Foa (1) :  HR G009 w2 9UTEF TFEEE T9E &+ [Had ™ 25 6 0 7 |

Fyq (1) : =i UEAER 2 O NS G Haed 2 |

I FUA F T o, A 7w fmed § 9 98 3 w5 =999 Fiew

(1) FEIaARIlcAiaT s |

(2)  FeH 3E LM 7=d 7 |

(3) Fuq 1 59 2, A w94 11 5799 2 |

(4) FEIsEA? dFAFHANTEE |

[Question ID = 2616][Question Description = Q38_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10461]
2. 2 [Option ID = 10462]
3. 3 [Option ID = 10463]
4. 4 [Option ID = 10464]

Correct Answer :-
e 1 [Option ID = 10461]

Identify the correct sequence in decreasing order of percentage of total world’'s water in the
following locations :

(A) Atmosphere

(B) Rivers and streams
(C) Ground water

(D) Lakes (Fresh water)

(E) Ice caps and Glaciers

Choose the correct answer from the options given below :

(1)  (E).(C). (B). (D). (A) (2) (E). (B). (C). (D). (A)
(3y (E)w (D). (C). (B). (A) 4y (E). (O). (D). (A). (B



v = e el Tiawd 1 ARG T 1 2 W S W i R

(&)  argEse

(B) A 3 SFeAEw
(©) g

D) =i (are )
(E)  Temeimd ofR famae

= fau o fampemi | @ wE S w0 == i
(1) (E). (C). (B). (D). (A) (2) (E). (B, (0). D). A
3 (B, D.(©.®. A @) (E). (0). D). (A). (B)

[Question ID = 2617][Question Description = Q39_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10465]
2. 2 [Option ID = 10466]
3. 3 [Option ID = 10467]
4. 4 [Option ID = 10468]

Correct Answer :-
e 1 [Option ID = 10465]

By the year 2030. Sustainable Development Goal 7 aims at enhancing the global rate of
improvement in energy efficiency by a factor of

(1) Two (2) Three
(3) Four (4) Five

a9 2030 7F, HIFHE HEE T59-T F =99 Saead $ 3vas 0 0 e am 1 afg e et

(1, = (2) =

(3 =W (4 w=
[Question ID = 2618][Question Description = Q40_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10469]
2. 2 [Option ID = 10470]

3. 3 [Option ID = 10471]
4. 4 [Option ID = 10472]

Correct Answer :-
e 1 [Option ID = 10469]

According to NEP-20 the primary activities of the NRF will be to
(A) Fund competitive peer reviewed grant proposals of all types across all disciplines.
(B) Open new institutions of research and innovation.

(C) Act as a liason between researchers and relevant branches of government as well as

industry.

(D) Include research in curriculum at school level.

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (A) and (C) only

(3) (B) and (C) only {(4) (C) and (D) only



iy fore ifd-20 % S9ER v T, i wuiEs ittt e -

(A)  fEw SafE g At SR -Fie T H A G TR & O § gag w6, e

TETEAT TE A |
(B) I IR TEAER F AU FEAE T FA
(C)  TiaeatsTl iR Teg TORE AT 3T SEA % o FE =9 ° w A |

(D)  TFeT T W YIEFHA ° WG A
e fau 1o fempei o T wem SugFd 39 H =54 Hifaw
(1) =aa (A) 317 (B) (2) Faa (A) #E (C)

(3) &= (B) 311 (C) (4) a4 (C) #F (D)

[Question ID = 2619][Question Description = Q41_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10473]
2. 2 [Option ID = 10474]
3. 3 [Option ID = 10475]
4. 4 [Option ID = 10476]

Correct Answer :-
e 1 [Option ID = 10473]

Identify from the following those values which are called “Sattvika Values”
(A) Compassion

(B) Jealousy

(C) Respect

(D) Falsehood

Choose the most appropriate answer from the options given below :
(8] (A) and (B) only (2) (B)and (C) only

(3) (C) and (D) only (4) (A) and (C) only

FrAfefam 7 5 = 5o 1 meae Hiw o afew g, fiam d e R

(A) Enaull
® =
(C) THH

D)  FEeE
= fau 1o ool § @ ge IugTd SO T =95 HIA
(1) A (A) 37 (B) (2) Fa (B) 3 (C)

(3)  ae (C) 3 (D) (4) as (A) 31 (C)

[Question ID = 2620][Question Description = Q42_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10477]
2. 2 [Option ID = 10478]



3. 3 [Option ID = 10479]
4. 4 [Option ID = 10480]

Correct Answer :-
e 1 [Option ID = 10477]

38 : ; i
) According to NEP-20 Secondary Education Comprises of classes
(1) VIII-X (2) X-XII
(3) X-X 40 IX-XI

7% forem if % wER weafiE fan § fefatas wand i -

(1) VIII -X (2) X-XI
3 IX-X 4 IX-XI

[Question ID = 2621][Question Description = Q43_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10481]
2. 2 [Option ID = 10482]
3. 3 [Option ID = 10483]
4. 4 [Option ID = 10484]

Correct Answer :-
e 1 [Option ID = 10481]

3 Prakrit languages have similarities and differences with Sanskrit In many ways,
Prakrit languages when formalized for literary use their variation from conventional vedic
languages was
(1) Pali (2) Ardhamagadhi
(3) Apabhramsha (4) Hind

T T F1 HEFA & WY Agd H T W AAEaT A6 Gfaean 2 | e i 59 anfefors wEm # o

Taeg =i T a9 Tw gnufer Afew wmn o et e o, =8 o -

(1 T (2) sAgH
(3)  Im¥m (4) T

[Question ID = 2622][Question Description = Q44_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10485]
2. 2 [Option ID = 10486]
3. 3 [Option ID = 10487]
4. 4 [Option ID = 10488]

Correct Answer :-
e 1 [Option ID = 10485]

40) As a result of Wood's Despatch. which of the following Universities were established in 18577
(1) Calcutta, Bombay and Madras
(2) Bombay, Madras and Delhi
(3) Delhi. Bombay and Calcutta
(4) Madras, Calcutta and Delhi
TS F IO F iy, FetatEa § 9 w9 9 vt f s 51 1857 | 537
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[Question ID = 2623][Question Description = Q45_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10489]
2. 2 [Option ID = 10490]
3. 3 [Option ID = 10491]
4. 4 [Option ID = 10492]

Correct Answer :-
e 1 [Option ID = 10489]

Topic:- 03rd_Set7_C

1)

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more Important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educatiomsts, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study. may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people. the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal life styles. etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, 1t can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

In higher education. in the context of promoting strong value orientation. which of the
following statement holds true?

(1) Provide opportunities to students to acquire scientific knowledge of high standards.
(2) A Policy for development of values may be prepared.
(3 Offer courses related to inter disciplinary contemporary soclo-economic problems.

(4) The universities should aim to enrich technological dimensions.

i i HETyYl HEHT S WAl F | 6 T 9 S0 U Je AT (el S ua Swe & s,
wtatea=i, fa=ms, e s ey, aswal, 99ies Te-ia® 901 37 G HEwal Seans, T &
THFE HH YTHET F HEE A 5 S g @i ofiv % G RER % 95T B 5U, §F dd 7 | U
T £ T 390 ° HEW 3 O 6 991 # 999 % S JelEEed IR % 989 S=asd siE 9ed
T % O wg #E v 99 F g 99 39 A e S S iE T e e 5 mee
sents #1 q=5 fa=m a7 oFa £ | 390 4 9guers e 2o § gade Tl o auged e san
HATTH IeFT T W IR SGAE A S aEAIE W1 I A H a0 T F | S fE
a9 # [ vH gEe-atad 9ge F S0 9 TR # SgEE TH TG F6 Fl A0 uge B aEe
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(4)  Tomafamel #1 a1 =W F Tg 9 F ATaEisE FE =3 |

[Question ID = 2624][Question Description = Q46_GP_24NOV_S1_SHAAN_Shift1]
1 [Option ID = 10493]
2 [Option ID = 10494]
3 [Option ID = 10495]
4 [Option ID = 10496]
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Correct Answer :-
e 1 [Option ID = 10493]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats. leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal hife styles, ete. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

The higher education system as of now emphasizes on

(1) Utilitarian values (2) Human values

(3 Social and Political values (4) Spiritual values
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[Question ID = 2625][Question Description = Q47_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10497]
2. 2 [Option ID = 10498]
3. 3 [Option ID = 10499]
4. 4 [Option ID = 10500]

Correct Answer :-
e 1 [Option ID = 10497]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal life styles, ete. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of hich standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadeguate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

Value oriented curriculum at professional studies level is important
(1) To propagate the values Further

(2) To have a glimpse of the 13sues of the poor and disadvantaged
(3) To balance other pedagogy. related deficiencies

(4 To train students as efficient resource agents
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[Question ID = 2626][Question Description = Q48_GP_24NOV_S1_SHAAN_Shift1]
1 [Option ID = 10501]
2 [Option ID = 10502]
3 [Option ID = 10503]
4 [Option ID = 10504]
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Correct Answer :-
e 1 [Option ID = 10501]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles. etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

The most suitable Caption for the passage may be :

(1) Enforcing values in education
24 Importance of values
(3) Value implementation

(4) Value basis for tertiary education and society
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[Question ID = 2627][Question Description = Q49_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10505]
2. 2 [Option ID = 10506]
3. 3 [Option ID = 10507]
4. 4 [Option ID = 10508]

Correct Answer :-
e 1 [Option ID = 10505]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educatiomsts, research workers, professionals,
political leaders and social workers ete. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study. may have a poor idea of the values of freedon and human
dignity. the value of food. security and health care for millions of poor and disadvantaged
people. the importance of correct public policies for managing socleties and solving several
problems, the importance of proper human relations and personal life styles. etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, 1t can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate cbscurantism
religious fanaticism, violence superstition and fatalism.

In order to cultivate values, the higher education system should concentrate on
(1) Plugging pedagogical deficiencies

(2) Integrating technology

(3 Integrating technology with pedagogy

(1) Curricular reforms
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[Question ID = 2628][Question Description = Q50_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510]
3. 3 [Option ID = 10511]
4. 4 [Option ID = 10512]

Correct Answer :-
e 1 [Option ID = 10509]





